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1. (c) As,

C H H A P A K D J K E U G R

+1

+2

+3

+4

+5

+6

+7

Similarly,

M A L A N G A N C O E S M H

+1

+2

+3

+4

+5

+6

+7

2. (b) 60 * 48 * 36 * 6 * 15 * 53
Putting the sign,

60 + 48   36 × 6 – 15 = 53

60 + 
48

36
 × 6 – 15 = 53

60 + 8 – 15 = 53

68 – 15 = 53

53 = 53

3. (c) 237 114196 73155

–41 –41 –41 –41
4. (a)

5. (a)

Flowers

Beautiful

Vaidehi

I.  False II. True

Hence, only conclusion II follows.

6. (d)

7. (d)
I

@    h

H   %

 $ I ; h % ; @ H

8. (d) (a) S P K

–3 Reverse

(b) J G T

–3 Reverse

P M N

–3 Reverse

( )c
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(d) G T Q

Reverse Not 
Reverse

9. (b) Elated is opposite to
Despondent.

Similarly,Enlightened is
opposite to Ignorant.

10. (c)

School

Class
Blackboard

11. (a) A D

B C



–

+–

+

D is the father.

12. (c)

13. (d) Let the number of Deer = x and
the number of Peacocks = y

ATQ,

x + y = 80 ...(i)

4x + 2y = 200 ...(ii)

Multiplying 2 with equation
(i) and subtracting it from
equation (ii) and we get-

x = 20 and y = 60

14. (c)

15. (d) 5 + 14 + 6 + 8

33

16. (b) 47 + 13 × 65 5 – 16

200

17. (c) (35, 25, 145)

 25 × 3 + 35 × 2

 75 + 70

 145

Similarly

(29, 37, 169)

 37 × 3 + 29 × 2

 111 + 58

 169

18. (d) Similarly

 

19. (b)

20. (b)

S-E

21. (b) a c d b d /a c d b d /a c d b d /
acdbd

22. (d) T Q R    R Q T   P S U
          (OR)  (OR)            (OR)

P S U    U S P   T Q R
case (i)   case(ii)  case (iii)
U S P
R Q T
case (iv)

23. (b) M O O N
(13) (15) (15) (14)

 

S T A R
(19) (20) (1) (18)

   


24. (b) A > L > B > C > M

25. (a)

Chairs

Stool

Table

B-GENERAL AWARENESS

26. (a) Bal Gangadhar Tilak

founded the Home Rule

League on 29th April 1916

in Belgaum. This

movement aimed at

achieving self-government

within the British Empire

through constitutional

means. Another Home Rule

League was founded later

in the same year by Annie

Besant in Madras./cky xaxkèkj
fryd us 29 vçSy 1916 dks csyxke
esa gkse :y yhx dh LFkkiuk dhA
bl vkanksyu dk mís'; laoS/kfud
rjhdksa ls fczfV'k lkezkT; ds Hkhrj
Lo'kklu çkIr djuk FkkA mlh o"kZ
ckn esa ,uh cslsaV us eækl esa ,d
vkSj gkse :y yhx dh LFkkiuk dh
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27. (d) The National Tiger

Conservation Authority

(NTCA) is the agency

responsible for implem-

enting the "Project Tiger "

programme and ensuring

the protection and

conservation of tigers in

India. The numbers of tigers

have been rising

significantly in India

signalling successful

implementation of the

program./jk"Vªh; ck?k laj{k.k çkf/
dj.k (,uVhlh,) "ifj;kstuk ck?k"
dk;ZØe dks ykxw djus vkSj Hkkjr esa
ck?kksa dh lqj{kk vkSj laj{k.k lqfuf'pr
djus ds fy, ftEesnkj ,tsalh gSA Hkkjr
esa ck?kksa dh la[;k esa mYys•uh; o`f¼
gqbZ gS] tks dk;ZØe ds liQy dk;kZUo;u
dk ladsr gSA

28. (c) Metamorphic rocks are

formed when existing rocks

(either igneous or

sedimentary) are subjected

to intense heat and

pressure, causing physical

and chemical changes. This

process is called

metamorphism. Examples

include marble (from

limestone) and slate (from

shale)./:ikarfjr pêðkusa rc curh
gSa tc ekStwnk pêðkusa (;k rks vkXus; ;k
volknh) rhoz xehZ vkSj ncko ds
vèkhu gksrh gSa] ftlls HkkSfrd vkSj
jklk;fud ifjorZu gksrs gSaA bl çfØ;k
dks dk;kiyV dgk tkrk gSA mnkgj.kksa
esa laxejej (pwuk iRFkj ls) vkSj LysV
('ksy ls) 'kkfey gSaA

29. (c) As temperature rises, the

kinetic energy of the

particles increases. This

means the particles move

faster because heat provides

energy that makes them

vibrate or travel more

rapidly, depending on the

state of matter (solid, liquid,

or gas)./tSls&tSls rkieku c<+rk
gS] d.kksa dh xfrt ÅtkZ c<+rh gSA
bldk eryc ;g gS fd d.k rsth
ls pyrs gSa D;ksafd xehZ ÅtkZ çnku
djrh gS tks mUgsa daiu djus ;k
inkFkZ dh fLFkfr (Bksl] rjy ;k
xSl) ds vk/kj ij vf/d rsth ls
;k=kk djus esa l{ke cukrh gSA

30. (a) The Tibetan Plateau is often

referred to as the “Third

Pole of the World” because

it holds the largest reserve

of freshwater ice outside

the Arctic and Antarctic

regions. Its vast number of

glaciers and ice caps play

a critical role in feeding

many of Asia’s major

rivers./frCcrh iBkj dks vDlj
"nqfu;k dk rhljk èkzqo" dgk tkrk gS
D;ksafd blesa vkdZfVd vkSj vaVkdZfVd
{ks=kksa ds ckgj ehBs ikuh dh ciQZ dk
lcls cM+k HkaMkj gSA blds fo'kky
Xysf'k;j vkSj ciQZ dh Vksfi;ka ,f'k;k
dh dbZ çeq• ufn;ksa dks iks"k.k nsus esa
egRoiw.kZ Hkwfedk fuHkkrh gSaA

31. (c) NALCO is a Navratna

company, not a

Maharatna company. A

Maharatna company is

that has shown

exceptional performance

and holds a major strategic

and financial role in the

Indian economy./ukYdks ,d
uojRu daiuh gS] u fd egkjRu daiuhA
egkjRu daiuh og gksrh gS ftlus
vlk/kj.k çn'kZu fd;k gks vkSj Hkkjrh;
vFkZO;oLFkk esa ,d çeq• j.kuhfrd
vkSj foÙkh; Hkwfedk j•rh gksA

32. (d) Guru Purnima is

celebrated on the full moon

day (Purnima) in the month

of Ashadha according to

the Hindu calendar. It

typically falls in the months

of July or August in the

Gregorian calendar. The

day is dedicated to

honouring spiritual gurus

and teachers in Hinduism,

Buddhism, and Jainism./xq#
iwf.kZek fganw dSysaMj ds vuqlkj vk"kk<+
eghus dh iwf.kZek dks eukbZ tkrh gSA ;g
vkerkSj ij xzsxksfj;u dSysaMj esa tqykbZ
;k vxLr ds eghuksa esa vkrh gSA ;g
fnu fganw /eZ] ckS¼ /eZ vkSj tSu /eZ esa
vkè;kfRed xq#vksa vkSj f'k{kdksa dks
lEekfur djus ds fy, lefiZr gSA

33. (b) Eutrophication is the

process by which a water

body becomes excessively

enriched with nutrients,

particularly nitrogen and

phosphorus. This leads to

an overgrowth of algae on

the water's surface,

blocking sunlight and

depleting oxygen levels in

the water. The result is

often a decline in water

quality, which can harm

aquatic life./;wVªksfiQds'ku og
çfØ;k gS ftlds }kjk ,d ty fudk;
iks"kd rRoksa] fo'ks"k :i ls ukbVªkstu
vkSj iQkLiQksjl ls vR;f/d lè¼
gks tkrk gSA blls ikuh dh lrg ij
'kSoky dh vf/drk gks tkrh gS] ftlls
lw;Z dk çdk'k vo#¼ gks tkrk gS
vkSj ikuh esa vkWDlhtu dk Lrj de
gks tkrk gSA bldk ifj.kke vDlj
ikuh dh xq.koÙkk esa fxjkoV ds :i
esa gksrk gS] tks tyh; thou dks
uqdlku igqapk ldrk gSA

34. (c) The 73rd Constitutional

Amendment Act, 1993

implemented the three-tier

Panchayati Raj system in

India. The amendment

mandated the establis-

hment of Panchayats at the

village, intermediate, and

district levels, ensuring

decentralisation of power

and promoting grassroots

democracy./73osa lafo/ku la'kks/
u vf/fu;e] 1993 us Hkkjr esa
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f=kLrjh; iapk;rh jkt O;oLFkk ykxw
dhA la'kks/u us xkao] eè;orhZ vkSj
ftyk Lrj ij iapk;rksa dh LFkkiuk
dks vfuok;Z cuk fn;k] ftlls lÙkk
dk fodsaæhdj.k lqfuf'pr gqvk vkSj
tehuh Lrj ij yksdra=k dks c<+kok
feykA

35. (a) In the Modern Periodic

Table: Elements are

arranged in 18 vertical

columns, called groups & 7

horizontal rows, called

periods./vk/qfud vkorZ lkj.kh
esa% rRoksa dks 18 ÅèokZ/j LraHkksa esa
O;ofLFkr fd;k tkrk gS] ftUgsa lewg
dgk tkrk gS vkSj 7 {kSfrt iafDr;ksa
esa] ftUgsa vkorZ dgk tkrk gSA

36. (d) The first-ever Common-

wealth Games were held in

1930 in Hamilton, Canada.

These games were

originally known as the

British Empire Games and

have since evolved into the

Commonwealth Games./

lcls igys dkWeuosYFk xsEl 1930
esa gSfeYVu] dukMk esa vk;ksftr fd,
x, FksA bu •syksa dks ewy :i ls
fczfV'k ,Eik;j xsEl ds :i esa tkuk
tkrk Fkk vkSj rc ls ;s dkWeuosYFk
xsEl esa cny x, gSaA

37. (b) Begum Akhtar was

famously known as the

"Mallika-e-Ghazal" (Queen

of Ghazal). She was an

iconic Indian singer who

made significant

contributions to ghazal,

thumri, and dadra genres

of classical music. Her

soulful voice and mastery

over these forms earned

her this revered title./csxe
v[rj dks "efYydk&,&xty"

(xty dh jkuh) ds :i esa tkuk
tkrk FkkA og ,d çfrf"Br Hkkjrh;
xkf;dk Fkha ftUgksaus 'kkL=kh; laxhr
dh xty] Bqejh vkSj nknjk 'kSfy;ksa

esa egRoiw.kZ ;ksxnku fn;kA mudh
Hkkoiw.kZ vkokt vkSj bu 'kSfy;ksa ij
egkjr us mUgsa ;g çfrf"Br mikf/
fnykbZA

38. (a) In Buddhism, the "Three

Jewels" (or Triratna) are:

Buddha – the enlightened

one (Gautama Buddha),

Dhamma – the teachings

and laws of Buddha &

Sangha – the community of

Buddhist monks and

followers./ckS¼ /eZ esa] "rhu jRu"
(;k f=kjRu) gSa% cq¼ & çcq¼ O;fDr
(xkSre cq¼)] /Ee & cq¼ dh f'k{kk,¡
vkSj fu;e vkSj la?k & ckS¼ fHk{kqvksa
vkSj vuq;kf;;ksa dk leqnk;A

39. (c) The Vijayanagar Kingdom

was ruled by four

dynasties: Sangama

Dynasty (1336–1485),

Saluva Dynasty (1485–

1505), Tuluva Dynasty

(1505–1570) & Aravidu

Dynasty (1570–1646)./

fot;uxj lkezkT; ij pkj jktoa'kksa
dk 'kklu Fkk% laxek jktoa'k
(1336&1485)] lyqok jktoa'k
(1485&1505)] rqyqok jktoa'k
(1505&1570) vkSj vjfonq jktoa'k
(1570&1646)A

40. (c) The 10th Schedule of the

Indian Constitution deals

with provisions relating to

the disqualification of

members of Parliament and

State Legislatures on the

grounds of defection. This

schedule, also known as

the Anti-Defection Law,

was added by the 52nd

Amendment Act of 1985 to

prevent political defections

and to stabilize

governments./Hkkjrh; lafo/ku
dh 10oha vuqlwph nycny ds vk/
kj ij laln vkSj jkT; fo/kulHkkvksa
ds lnL;ksa dh v;ksX;rk ls lacaf/r
çkoèkkuksa ls lacaf/r gSA ;g vuqlwph]

ftls nycny fojks/h dkuwu ds :i
esa Hkh tkuk tkrk gS] jktuhfrd
nycny dks jksdus vkSj ljdkjksa dks
fLFkj djus ds fy, 1985 ds 52osa
la'kks/u vf/fu;e }kjk tksM+k x;k
FkkA

41. (b) While oxygen (O
2
) is

essential for life, ozone (O
3
)

is not life-supporting and

can be harmful to breathe,

especially at ground level. In

high concentrations at

ground level, ozone is toxic

and harmful to the

respiratory system./tcfd
vkWDlhtu (O

2
) thou ds fy,

vko';d gS] vkstksu (O
3
)thou&lgk;d

ugha gS vkSj lkal ysus ds fy, gkfudkjd
gks ldrk gS] •kldj tehuh Lrj ijA
tehuh Lrj ij mPp lkaærk esa] vkstksu
fo"kkDr gS vkSj 'olu ç.kkyh ds fy,
gkfudkjd gSA

42. (a) Fibre (also called roughage)

is a type of carbohydrate

that the body cannot

digest. Its main role in the

diet is to: Support

digestion, Add bulk to stool,

Prevent constipation &

maintain bowel health./

iQkbcj (ftls jiQst Hkh dgk tkrk
gS) ,d çdkj dk dkckZsgkbMªsV gS
ftls 'kjhj ipk ugha ldrkA vkgkj
esa bldh eq[; Hkwfedk gS% ikpu dk
leFkZu djuk] ey dks Hkkjh cukuk]
dCt dks jksduk vkSj vka=k LokLF;
dks cuk, j•ukA

43. (b) Anorexia Nervosa is a

serious eating disorder

with the following key

characteristics: An intense

fear of gaining weight, even

when underweight (ii) & A

distorted perception of

body weight or shape,

where individuals see

themselves as overweight

even if they are

dangerously thin (iii)./
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,uksjsfDl;k uokZslk ,d xaHkhj •kus
dk fodkj gS ftlesa fuEufyf•r çeq•
fo'ks"krk,a gSa% de otu gksus ij Hkh
otu c<+us dk rhoz Mj (ii) vkSj
'kjhj ds otu ;k vkdkj dh foÑr
/kj.kk] tgka O;fDr •qn dks vf/d
otu okyk ekurs gSa] Hkys gh os
•rjukd :i ls irys gksa (iii)A

44. (c) Babur, the founder of the

Mughal Empire in India,

was the first to use

gunpowder and artillery on

a large scale in Indian

warfare. He effectively used

it in the First Battle of

Panipat in 1526, where his

cannons and firearms

played a crucial role in

defeating Ibrahim Lodi./

Hkkjr esa eqxy lkezkT; ds laLFkkid
ckcj us lcls igys Hkkjrh; ;q¼ esa
cM+s iSekus ij ck:n vkSj rksi•kus dk
bLrseky fd;k FkkA mUgksaus 1526 esa
ikuhir dh igyh yM+kbZ esa bldk
çHkkoh :i ls bLrseky fd;kA

45. (a) Brihadratha was the last

ruler of the Mauryan

Empire. He was

assassinated in 185 BCE

by his commander-in-chief

Pushyamitra Shunga, who

then founded the Shunga

dynasty./c`gæFk ekS;Z lkezkT; dk
vafre 'kkld FkkA 185 bZlk iwoZ esa
muds lsukifr iq";fe=k 'kqax us mudh
gR;k dj nh Fkh] ftUgksaus rc 'kqax
oa'k dh LFkkiuk dh FkhA

46. (a) The bill currently facing

widespread protests is the

Waqf (Amendment) Act,

2025. The legislation

introduces significant

changes to the

management of Muslim

charitable endowments,

known as waqf properties./

orZeku esa O;kid fojks/ dk lkeuk
dj jgk fo/s;d oDiQ (la'kks/u)
vfèkfu;e] 2025 gSA ;g dkuwu

eqfLye /ekZFkZ cankscLrh ds çca/u esa
egRoiw.kZ cnyko is'k djrk gS] ftls
oDiQ laifÙk ds :i esa tkuk tkrk gSA

47. (d) The primary reason U.S.

Presidents, especially in

recent years, have imposed

tariffs on other countries is

to address trade deficits —

that is, when the U.S.

imports more from a

country than it exports to

it. Tariffs are used as a tool

to balance trade and

support local industries./

vesfjdh jk"Vªifr;ksa }kjk] fo'ks"k :i
ls gky ds o"kks± esa] vU; ns'kksa ij
VSfjiQ yxkus dk çkFkfed dkj.k O;kikj
?kkVs dks lacksf/r djuk gS & vFkkZr]
tc vesfjdk fdlh ns'k ls fu;kZr dh
rqyuk esa vf/d vk;kr djrk gSA
VSfjiQ dk mi;ksx O;kikj dks larqfyr
djus vkSj LFkkuh; m|ksxksa dk leFkZu
djus ds fy, ,d midj.k ds :i esa
fd;k tkrk gSA

48. (c) QpiAI-Indus, developed by

Bengaluru-based startup

QpiAI, is India's first full-

stack quantum computing

system. Launched on World

Quantum Day (April 14,

2025), it features 25

superconducting qbits and

integrates advanced

quantum processors,

scalable control systems,

and optimized software for

hybrid computing solutions.

This milestone marks a

significant advancement in

India's quantum technology

landscape./csaxyq# fLFkr LVkVZvi
QpiAI }kj k fodflr QpiAI

&Indus, Hkkjr dk igyk iw.kZ&LVSd
DokaVe daI;wfVax flLVe gSA bls fo'o
DokaVe fnol (14 vçSy] 2025) ij
ykWUp fd;k x;k] blesa 25 lqijdaMfDVax
D;wfcV~l gSa vkSj ;g mUur DokaVe
çkslslj] Ldsyscy daVªksy flLVe vkSj
gkbfczM daI;wfVax lek/kuksa ds fy,

vuqdwfyr lkWÝVos;j dks ,dhÑr
djrk gSA ;g ehy dk iRFkj Hkkjr ds
DokaVe çkS|ksfxdh ifjn`'; esa ,d
egRoiw.kZ çxfr dks n'kkZrk gSA

49. (b) The Defence Research and

Development Organisation

(DRDO) has recently

developed and successfully

tested a high-powered laser

weapon system named

"Sahastra Shakti". This

advanced 30-kilowatt

laser-based Directed

Energy Weapon (DEW) is

designed to neutralize

aerial threats such as

drones, missiles, and

surveillance equipment./

j{kk vuqla/ku vkSj fodkl laxBu
(DRDO) us gky gh esa "lgL=k
'kfDr" uked ,d mPp 'kfDr okys
ystj gfFk;kj ç.kkyh dk fodkl vkSj
liQyrkiwoZd ijh{k.k fd;k gSA ;g
mUur 30 fdyksokV dk ystj&vkèkkfjr
Mk;jsDVsM ,uthZ osiu (DEW) Mªksu]
felkby vkSj fuxjkuh midj.k tSls
gokbZ •rjksa dks csvlj djus ds fy,
fMtkbu fd;k x;k gSA

50. (c) Mohun Bagan Super Giant

clinched the 2024–25

Indian Super League (ISL)

Cup by defeating

Bengaluru FC 2–1 in the

finals. This achievement

underscores Mohun

Bagan's dominance in

Indian football, as they

became the first team to

successfully defend the ISL

title./eksgu ckxku lqij tk;aV us
iQkbuy esa csaxyq# ,iQlh dks 2&1 ls
gjkdj 2024&25 bafM;u lqij yhx
(vkbZ,l,y) di thrkA ;g miyfC/
Hkkjrh; iQqVckWy esa eksgu ckxku ds
çHkqRo dks js•kafdr djrh gS] D;ksafd
os vkbZ,l,y f•rkc dk liQyrkiwoZd
cpko djus okyh igyh Vhe cu
xbZA
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gSAgS C - QUANTITATIVE APTITUDE
51. (b)Distance travelled by wheel

in one revolution =2r

= 2 × 
22

21
7

 = 132 cm

So, Distance travelled by
wheel in 10 revolutions =132
× 10 = 1320 cm

52. (c) cos x + cos2 x = 1
 cos x = 1– cos2 x
 cos  x = sin2x ----(1)

Also, cos x + cos2 x = 1
cubing both sides we get.
cos3 x + cos6 x + 3 cos3 x (cos
x + cos2x) = 1

cos3 x + cos6 x + 3 cos4 x +
3 cos5 x = 1 ----(2)
Putting (1) in (2) we set,
sin6 x + sin12 x + 3 sin8 x + 3
sin10 x = 1

 sin12 x + 3 sin10 x + 3 sin8 x +
sin6 x – 1 = 0

53. (a) xy + yz = – zx
xy + yz + zx = 0

2 2 2

1 1 1

z xy y xz x yz
 

  

2 2 2

1 1 1

z yz zx y xy yz x xy zx
  

     

1 1 1

z(x y z) y(y x z) x(x y z)
  

     

xy yz zx
0

xyz(x y z)

 
 

 

54. (b) 800m

A B C200 100

1000m
A : B : C
1000 : 800 : 700

 10 : 8 : 7
So, B : C = 8 : 7
 (125 × 8) : (7 × 125)

= 1000 : 875
 B – C = 1000 – 875= 125 m.

55. (c) In OAB we have,
OA = OB  OAB = OBA =
20º

and
In OAC we have,
OA = OC  OAC =OCA =
30º

 BAC = 20º + 30º = 50º
 BOC = 2 BAC = 2×50º =

100º
56. (d)Biggest 4-digit umber = 9652

and smallest 4-digit number
= 2569
Required difference = 9652
– 2569
= 7083

57. (b)Let, Total work = 72 &
Efficiency of 3rd Son = x
So, Efficiency of 1st son = 3
Efficiency of 2nd Son = 2
Efficiency of Raju  = 22

ATQ.
Efficiency of raju = 2 ×
Efficiency of his three sons

22 = 2( 3 + 2 + x)

 x = 6
So, Time taken by 3rd Son to

complete the work

72
12 days 

6
 

58. (a) Volume of sphere = 38808
cm3

3 34
r 38808 cm

3
 

So, r = 21 cm
Surface Area = 4r2

222
  4 (21)

7
    = 5544 cm2

59. (a) Let, 1st part = a
So, 2nd part = 1550 – a

A.T.Q.

    
 

1550 a 6 1a 8 1
106

100 100
a = Rs. 650

So, Rs 650 is lent out at 8%

60. (d) 4 : 3

10 : 13

40 : 39

So, 
1

1 0 0 2 . 5 %
4 0

 

= 2
1

2
% Decrease

61. (b)By alligation,

7.2 5.7

0.90.6

6.3

Required ratio = 0.6 : 0.9
 2 : 3

62. (b)Let length of train A = L m
and speed of train B = x m/s

ATQ
300 + L = (17.5 + x) ×15

 15x – L = 37.5 ... (i)

Again, 300 + L = (17.5 – x)×
80

80x + L = 1100 .... (ii)

Add (i) and (ii)

95x = 1137.5

x = 11.97 m/s

63. (d) [(222)2 ÷ 48 × 16]÷24

222 222 1
16

48 24


  

1369

2


= 684.5

64. (c) Numbers between 200 and
900 which is divisible by 4
and 6 is the numbers which
is the LCM of 4 and 6 i.e. 12

So,  1st number is 204

Last number is 888

By using A.P.

Last term = a + (n – 1) d

888 = 204 + (n –1)12

74 = 17 + n–1

n = 58

Total 58 numbers are
divisible by  between 200
and 900.

65. (d)Angle made by number of
employees working in
marketing = 86.4º

Angle made by number of
employers working in IT = 72°

Required perentoge

=
86.4º 72º
  100

72º




= 0
7

 
2

14.4
10

= 20

66. (d) 
 1
25%

4
  and 

 1
10%

10


So, ratio between Marked
Price and Selling Price

M.P. : S.P.

   4   :  3

 10   :  9

--------------

40    :  27

ATQ, 27 810

40  1200

So, M.P is Rs. 1200
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67. (c) Total interst paid by him =
Rs 364
ATQ,

900×4×T 1100×5×T
+ =364

100 100

 36T + 55T = 364
 91T = 364
 T = 4 years

68. (d)Let, Average of 8 persons = x
Increased Average of 8
persons = x + 2.5
So, Total Increase in weight
= 2.5 × 8 = 20
So, weight of new Man = 56
+ 20 = 76 kg

69. (b)Let, fourth proportional is D.

So, 
189 153

273 D


D = 221
70. (c) A : B = 7 : 8

After 12 years,
A : B = 17 : 19
Now,
(7 : 8) × 2
17 : 19

14 : 16
3 12 years

17 : 19






1 unit  4 years
Present Age of  B = 16× 4 =
64 years
Present Age of  C = 64 – 7 =
57 years

71. (a) Ratio of Profit
16,000× 3 + 14,000 × 9 : 10,
000× 9 : 9,000× 6

29 : 15 : 9

        1026
×114

So, profit of A is = 29 × 114
= 3306

72. (d)

20°
B

A

C D

If  AC = CD
then,  ADC = DAC = 20°
ACB  is the exterior angle
of  ACD
So,
ACB  = DAC + ADC
ACB = 40°
If AB = AC

ABC = ACB = 40°
In ABC
A + C + B = 180°
A + 40 +  = 180°
(BAC) = 100
BAD = BAC + CAD
= 100 + 20
BAD = 120°

73. (a)
512

162
A P

4
512

1
100 162

 
   

R
P P

4
256

1
100 81

 
   

R

4
1

100 3
 
R

R = 33.33 %
74. (c)

126
Employees of A 2400 840

360
  

18
Employees of B 2400 120

360
  

54
Employees of C 2400 360

360
  

90
Employees of D 2400 600

360
  

72
Employees of E 2400 480

360
  

Total No. of offices in which
employees are between 350 and
650 = 3

75. (b) Average Employees in C, D
& E

360 600 480 1440

3 3

 
 

= 480

D-ENGLISH COMPREHENSION

76. (a) Abnegation (fdlh pht dk

R;kx) means the act of

giving up personal desires

or material things, often for

moral or religious reasons.

Similarly, Renouncement

(fdlh pht dks NksM+uk) means

formally rejecting or giving

up something.

Sacrifice (dqck Zu h n suk)

means giving up something

valuable for the sake of

others or a cause.

Abduction (tcnZLrh ys tkuk)

means forcibly taking

someone away;

kidnapping.

Materialism (fliQZ phtksa ls

eryc j•uk) means giving

too much importance to

money or possessions.

77. (a) Utmost (lcls t~;knk t:jh)

means the greatest or

highest possible degree of

importance.

In the sentence, it

correctly expresses that

Freud’s work was

extremely important to

the Surrealists.

Farthest (lcls nwj) refers

to physical or

metaphorical distance

Remotest (cgqr nwj ;k de

tqM + k g qvk) means least

connected or distant

78. (d) The heart-rending cries

(fny ngyk nsus okyh ph[ks)

cries that cause intense

sadness or distress —

emotionally painful.

79. (a) The incorrectly spelled
word is “aggresive”. The
correct spelling is
aggressive, which means
showing a strong desire to
succeed or compete, or
exhibiting forceful or
attacking behavior.

Correctly spelt words are:

 Arguments means

statements or reasons

made to support a point of

view.

 Fruitful means producing

good results or benefits.

 Natured refers to a

person’s inherent qualities

or disposition.
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80. (d) The correct answer is No

improvement required.

The relative pronoun “who”

is used appropriately to

refer to “Vikram,”(“who”

refers to people.) and the

verb “made” correctly

aligns with the past tense.

81. (a) Disdained (frjLdkj djuk) -

means to regard or treat
with contempt or scorn.
Here, “disdained” means
that the captain looked
down upon or rejected the
impatience and rebellious
attitude of his crew,
treating it with contempt
or scorn.

82. (b) Invigilator refers to the
person responsible for
supervising or monitoring
candidates during an
examination to ensure the
rules are adhered to.
Examinee means a person
who is taking an exam.
Examiner refers to the
person who conducts or
evaluates the exam.
Supervisor is a general
term for someone who
oversees or manages a
task, but it ’s not
specifically used for
examination supervision.

83. (c) The incorrectly spelled
word is “holered”. The
correct spelling is

“hollered”(fpYYk ku k)  ,

which means to shout or
yell loudly.

84. (d) A pink dress will be worn
by her to the wedding.
Active Voice Structure:
Subject + will + be + Verb
(V-ing) + Object
Passive Voice: The object
(“a pink dress”) comes at
the beginning, followed by
the auxiliary verb (“will
be”), the past participle of
the verb (“worn”), and the
subject (“by her”).

85. (d) The mall has just opened
and the visitors have
arrived.

“The mall has just
opened” uses the present
perfect tense, indicating
that the mall has recently
opened (an action that is
relevant to the present
moment).

“The visitors have
arrived” also uses the
present perfect tense,
indicating that the visitors’
arrival happened recently
and is connected to the
present.

86. (a) Interlude, which refers to

a pause or interval between

the acts or scenes of a play

or performance.

Interline means to write or

print between lines of text.

Interlace means to weave

things together.

Interlink means to connect

or link things together.

87. (b) “A bite at the cherry”

refers to having a chance

or opportunity to achieve

something.

88. (d) “Be riding high” refers to
being in a position of
success, triumph, or
having a period of great
achievement or prosperity.

89. (b) Perspicacious (dq'kkxz  cqf¼)
means having a ready
insight into and
understanding of things.

Pretentious (fn[k ko k)
means attempting to
impress by affecting greater
importance or merit than is
actually possessed.

Precarious([krjs es)   means

dangerously lacking in

security or stability.

Preposterous (c sr qdk)

means utterly absurd or

ridiculous.

90. (b) Fervent (tks'khyk) means

showing intense passion,

enthusiasm, or strong

feelings. Its opposite is

Impassive(Hkkoghu), which

means showing no emotion

or interest.

Tactless (csvnc)  means

lacking sensitivity in

dealing with others.

Assured (vk Refo'oklh)

means confident and

certain.

Awkward (vthc) means

clumsy or uncomfortable in

social situations.

91. (a) Active Voice Structure:

Auxiliary Verb (has/have) +

Subject + Verb (V2) +

Object

Has + the Defence

Ministry + + lifted + the

ban?

Passive Voice Structure:

Auxiliary Verb (has/have) +

Subject + Been + Participle

(V3)  + Object

Has + the ban        +

been lifted        + by the

Defence Ministry?

92. (d) Perspicacious (cgqr rst
fnekx okyk) means having

a keen understanding and

being able to notice and

understand things quickly

and clearly.

Similarly, Shrewd (pkykd

;k le>nkj)  means having

sharp judgment and being

mentally alert
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Hazy (/ q a/yk)means

unclear or vague

93. (b) Sneered (fuank djuk ;k rkuk
ekjuk)  means to mock,

insult, or show contempt
through words or
expressions. Its opposite is

Lauded (ljkguk djuk),

which means to praise or
admire someone or
something publicly.

Waved (b'kkjk djuk) means

to move your hand or
something back and forth

Unleashed (Nk sM +  n s u k)
means to suddenly release
a force or emotion

Ascribed (dk Js; nsuk)
means to attribute
something to a cause or
person

94. (b) The correct order is  SQPR.

S starts with “Everything

available in our

environment.”

Q explains what “every-

thing” can do: “which can

ANSWER KEY

1. (c)

2. (b)

3. (c)

4. (a)

5. (a)

6. (d)

7. (d)

8. (d)

9. (b)

10. (c)

11. (a)

12. (c)

13. (d)

14. (c)

15. (d)

16. (b)

17. (c)

18. (d)

19. (b)

20. (b)

21. (b)

22. (d)

23. (b)

24. (b)

25. (a)

26. (a)

27. (d)

28. (c)

29. (c)

30. (a)

31. (c)

32. (d)

33. (b)

34. (c)

35. (a)

36. (d)

37. (b)

38. (a)

39. (c)

40. (c)

41. (b)

42. (a)

43. (b)

44. (c)

45. (a)

46. (a)

47. (d)

48. (c)

49. (b)

50. (c)

51. (b)

52. (c)

53. (a)

54. (b)

55. (c)

56. (d)

57. (b)

58. (a)

59. (a)

60. (d)

61. (b)

62. (b)

63. (d)

64. (c)

65. (d)

66. (d)

67. (c)

68. (d)

69. (b)

70. (c)

71. (a)

72. (d)

73. (a)

74. (c)

75. (b)

76. (a)

77. (a)

78. (d)

79. (a)

80. (d)

81. (a)

82. (b)

83. (c)

84. (d)

85. (d)

86. (a)

87. (b)

88. (d)

89. (b)

90. (b)

91. (a)

92. (d)

93. (b)

94. (b)

95. (c)

96. (c)

97. (a)

98. (d)

99. (a)

100.(a)

be used to satisfy our

needs.”

P gives the conditions for

being a resource: “and

culturally acceptable.”

R provides the final

condition: “provided it is

technologically accessible,

economically feasible.”

95. (c) The correct order is A, C,
D, B.

A introduces the growth of

the nation.

C explains the challenges

still faced.

D provides some details

about the reasons for the

challenges.

B concludes with the truth

about the neglect and

budgetary issues.

96. (c)
97. (a)
98. (d)
99. (a)
100.(a)


